Section 7.9 Logarithmic Functions
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Wiite the following in log form
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The logarithm of a number 1s the power to which the base number must be raised to get that
number.
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The base goes over and pushes the
number up to become the power.
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The Laws of Logs

The Laws of Logarithms

1. log.xy = log,x + log,y
2. log.(X) = log.x — log,
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3. log, x" = nlog,x
4. log,a = 1
5. log,1 =0
6. log,x = log,,x

' log,a Using your calculator, verify cach of the following.

. log,p4 + log,03 = log,p12 = 1.0792
Tables pg 21 2. 108,08 — log06 = lugm(-g—) = 0.1249
3. 108,08 = 3 log,,8 = 2.7093
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The two most widely used bases on logs are

- Base 10 logs eg log01000. These are used for calculations and are called common
logs. To calculate correct to dec places/sig figs change all to the base 10 or convert to
logs by multiplying both sides by log. (See Q8)

- Base e (2.718) eg log.1000. These are used for dealing with naturally occurring
events, earthquakes, growth of colonies, and are called natural logs.

Note: logex = In X.
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Without using a calculator, simplify the following number:
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Example 3 )

Without using a calculator, simplify the following number:
log,128 + log:45 — log,S
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Example 4 )

th following number correct to two significant figures:
lo g,;ll log.4
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